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Circle ":e correct answers.
1. When Bronco's speedisleast, his

W =1000N

R=|200N

S\)

rperience a downward acceieraticn?

a = | 2 m ‘S =

. 4 j
In which positicn(s) does Bronco
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3. Inwhich position(s) does Bronco d
experience an upward accejeration?

(a) (b) (c) (d) (e) (D)
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W=]000N

4. When Eronco experiences an upward R=2000 N
acceleration, hisvelocity is
o

(}ﬂﬂ dg-,»mjla}i) (upward also).

5. Inwhich position(s) is Eronco’s
velocity constant?

(a) (b)/(c) (d) (e) (D))
J )

2 \W=1000 N

6. Inwhich position(s) does Bronco
expeneme terminal vc'ocxty?

@ ) (c) (@ (e m ) R=1000 N

v

7. Inwhich position(s) is terminal velocity
greatesty

(a) (b) / ) @ (e) B

8. If Bronco were heavier, his terminal
velpeity would be

(greater) (less) (thesamne).
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